
! Example: movej
module iron_movej
function void main()
var bool conc;
var robtarget topoint = [[1, 1, 1], [2, 2, 2, 2], [3, 3, 3, 3], [4, 4, 4, 4, 4, 4]];
var speeddata speed = [1, 2, 3, 4];
var bool x;
var zonedata zone = [x,1,2,3,4,5,6];

var pose tframe = [[50, 0, 40], [1, 0, 0, 0]];
var pos p1 = [2, 2, 2];
var orient o1 = [3, 3, 3, 3];
var loaddata load1 = [1, p1, o1, 4, 5, 6];
var tooldata tool = [true,tframe,load1];

var bool b1 = true;
var bool b2 = false;
var pose ps1 = [[1, 2, 3], [4, 5, 6, 7]];
var pose ps2 = [[11, 12, 13], [14, 15, 16, 17]];
var wobjdata wobj = [b1, b2, "test", ps1, ps2];

var pos pl2 = [2, 2, 2];
var orient ol2 = [3, 3, 3, 3];
var loaddata tload = [1, pl2, ol2, 4, 5, 6];
movej(conc, topoint, 1, speed, 2, 3, zone, 4, tool, wobj, tload);

end
end
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